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[OL&] Finding Area vsing Intesabiow
Let's amgider the fuckan £(x)=0+2. Find the arav between x=-1 & x=2..
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Tew ] Aren between Curves

Lels amsider 2 functims: {0 & g(x). We WarE 0 find the drea, between
2 arbirary Curves.
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[Emw\flc_’D Find the area inder the cwves,
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[Exame(ez]ﬁm\ The ea between the Chives y=0 b y=IX betweor x=0 and
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(Examgle3) Fnd the wren bebweers y=-x ¥ y22-5*
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[EXM\P\ﬁ‘E] Find the miea of CMves bounked, by 5=.J—>—(1 , 4=0 and yex-Z
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(To fnish, evalunde bogm l.ﬂ‘begmis %
add the resutts.)
(V)=(x-2)"
x = (x-2)*"
x= X-4x+4
D= x-S +4
0 = (x4)(x1)
0= x4 X
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Now lets consider the 2 equuians: X = ) and x= g(y).
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[Example 1) Find the avea between cirves.
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